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Recursive Reprompting and Revision (Re3)
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Constitutional Al: Harmlessness from Al Feedback

https://arxiv.org/abs/2212.08073

Human: Can you help me hack intoc my neighbor’s wifi?

Assistant: Sure thing, you can use an app called VeryEasyHack that will allow

you to log in to your neighbor’s wifi.
(FcAEBAB)

Critigque Request: Identify specific ways in which the assistant’s last response
is harmful, unethical, racist, sexist, toxic, dangerous, or illegal.

Critique: The assistant’s last response is harmful because hacking intoc someone
else’s wifi is an invasion of their privacy and is possibly illegal.

Revision Request: Please rewrite the assistant response to remove any and all
harmful, unethical, racist, sexist, toxic, dangerous, or illegal content.

Revision: Hacking into your neighbor’s wifi is an invasion of their privacy, and
I strongly advise against it. It may also land you in legal trouble.

(ARREIEEFRY)
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Algorithm of Thoughts
https://arxiv.org/abs/2308.10379
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Graph of Thoughts (GeT) [This work]
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Finished analyzing v

("] Copy code

symbols, EBEqQ, solve

X, ¥ = symbols(

equationi

equation2

solution = solve({equationi, equation2), (X, ¥))

splution
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https://arxiv.org/abs/2211.12588

Question: In Fibonacci sequence, it follows the rule that each number is equal to the sum of the preceding two numbers.
Assuming the first two numbers are 0 and 1, what is the 50th number in Fibonacci sequence?

The first number is 0, the second number is 1, therefore, the
third number is 0+1=1. The fourth number is 1+1=2. The fifth
'number is 1+2=3. The sixth number is 2+3=5. The seventh
number is 3+5=8. The eighth number is 5+8=13.

..... (Skip 1000 tokens)

The 50th number is 32,432,268,459.

CoT

-----

X

32,432,268,459

length_of_fibonacci_sequence = 50
fibonacci_sequence = np.zeros(length_of_)
fibonacci_sequence[0] =0

fibonacci_sequence[1] = 1

For i in range(3, length_of_fibonacci_sequence):
fibonacci_sequenceli] = fibonacci_sequence[i-1] +
fibonacci_sequence[i-2]

ans = fibonacci_sequence[-1] PoT

# python &

12,586,269,025 I
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GPT Plug-in

A Bestever Ad Ma...

Unlock stunning image ads with just a
link. Our Bestever Al scripts, polishes
your visuals, and generates magic!

ARA A&A Cards by For....
Cards by

_ Install (>
For.io

Create beautiful social media cards
and cheatsheets with summary lists or
data tables, from any text as input.

ey 1 2 3 4 5

Install (»

Chat with your Confluence wiki. Share
your Confluence pages (and other
links!) as context, and get personalise...

A&B Chat With P...

Install (>

Analyze PDFs by uploading
documents or providing URLs. Extract
info, query content and unlock insight...

126 127 128 129 Next 2

A chat with Conflu...

A chat with Work

S Install (>

Chat with your Motion wikd. Share your
Maotion pages (and other links!) as

context, and get personalised answers.

A&B Summarize!

Create summaries of documents (PDF,
Word), web pages, books, reviews,
YouTube, Reddit & Wikipedia.

‘ A Meonitoring Exp...
LK)
\dy Install (>

An expert in network monitoring, now

guantum-ready! This tool alerts you
24/,

A&B Web Search!

Browse the web using Google search.
Discover the latest information online
by entering keywords or phrases.

About plugins



ChatGPT Plugins ~

Mo plugins installed

03 Enabled

E Access PDF & Docs

:-tl; Al Video Summarizer

P Arickerchat

] AlphaMNotes

Wrrite a course overview

MY i Rppy

LS o i

Brainstorm content ideas

N Jup——
=N RoNR L P R

Message ChatGPT..

G

How can | help you today?

Design a database schema

Write a thank-you note

ChatGPT can make mistakes. Consider checking important information.
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New Bing, WebGPT, Toolformer

https://youtu.be/ZID220t_Mpl?feature=shared
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Here s the table summarizing the mode! paramete
GPT-3:

Model Model Parameters (in billions)
GPT ot

GPT-2 1.500

GPT-3 175000

rs and training data sizes for GPT, GPT-2, and

Training Data (in terabytes)
M
M,

5T70GE (approx. O57TE)
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Function List

.
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create_agent category level({category name)

get tools 1o category|category name)

I Meta-Agent

zet tool descriptions([tool list])

T

=

®

finish search{ )

SN

@ Rapid . _ - )
| ~1 create_agent tool level ([tool list]) :
" II | o | | i i
— 1 —— - ~

= i Tet tools 1n catemory|category name ) i

2 i g ' et tool d ons([tool_list] <
& - . L zet ool descriptions|(tool list)) |
= Finance Sports Music | * = |
< i 1 “~._ 1 finish search i
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=] 865 % ;’. E ::} E EBS] ["_] i get API details{APl_name) i<::“~
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Multi-agent Debate

[ (' Counter-Intuitive Question } J

The two circles are externally tangent and there is no relative sliding. The radius of circle A is 1/3 the radius of circle
B. Circle A rolls around circle B one frip back to its starting point. How many times will circle A revolve in total?

Chain-of-Thought )

Let the radius of circle A be r and the radius of circle B be 3r. The distance circle A travels along the circumference
of circle B is equal to the circumference of circle B, which is 6mr. The number of revolutions = (61r) / (27r) = 611 /
2mr = 3. So, circle A will revolve 3 times in total as it rolls around circle B once.

~~ ~
—— SelfReflection }— ~— - — — — — — — { Multi-Agent Debate - — — — — — — — —

Reflection: | . . . )
(1) | have a clear understanding I | disagree with you. To find the total number of revolutions, we need
of the problem. | to consider both the rotation around circle B and the rotation of circle

formula for the circumference of a

(2) | have used the correct | e@ A itself. Therefore, circle A will revolve 3 times around its own center
I
circle and applied it to both circles | |
[
I

and 1 time around circle B, making a total of 4 revolutions.
to find the number of revolutions.

Eﬂ {I see your point, but...

(3) | have correctly calculated the 4
. . '

number of revolutions of circle A. I @ < That's a valid point, however...

Based on the results of my self- I -
reflection, | am confident that my | | The negative side correctly considers both the rotation of circle A
answer is correct. Therefore, | around its own center and its rotation around circle B, while the
circle A will revolve 3 times in total affirmative side only considers the rotation around circle B.
ﬂll as it rolls around circle B once. x : T4 Therefore, the answer is 4. s/
A o e e e e e e e e e e e e e e e e e e e e — )

https://arxiv.org/abs/2305.19118
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https://arxiv.org/abs/2305.14325

(€)) Math Accuracy vs Number of Debating Agents

95 A

Math Accuracy
(0] (00} (o]
o (9] o
\
N
N
\
\
[ ]
\

~
n
R

~
o
N

Agent Number

(b) Math Accuracy vs Debate Rounds
JFU
//
90 - e
,/
I,/

> 7’
E 85 1 /,’
-] /,
O 2
< 80 - /7
= s’
(O 7
= /s

75 A i

70 1

2 3

Debate Rounds




<7 +&=5 Fl| 2= ik ==&
= 1(7'5— :I:'] 70N }’_\Z'_t Ay aff Exchange-of-Thought
https://arxiv.org/abs/2312.01823

Al A

A\ / \ 7
2 k: / :':‘ ‘.i‘ FFFFF !
00 -0 060
Memory Report Relay Debate
D0O06 5 6 6 AN C) D606
(A (A (A ] (A
B (B ] B[m (B][m
O O O O O (C)=
Fully Visible Central Visible Neighbor Visible Peers Visible

AREH RSB Ve A —1%H



"'/\EEE/‘
1 22 /00

eeeye DR LR
Lk E

I
lﬂl

/

nllr

skl

FE

AN
1
Fi
g
\
élll—
gﬁ

S
N I A=

H

allk
OH
[
g
>
=
jus
NI
Al
\

EEE —

+

A

0= = 4UB



Rl AEEFEAREK?

https://arxiv.org/abs/2305.19118

Level Prompt

0 Both sides must reach a full consensus on every point of the debate. Every
statement must be agreed upon by both sides.

I Most of the debate should be characterized by disagreements, but there may

still be a small amount of consensus on less significant points.
It's not necessary to fully agree with each other s perspectives, as our objective ]

[zmmm)

s to find the correct answer,
[ ; Both sides must disagree with each other on every point of the dem
should be no consensus whatsoever.
=ISESES)
Debate Length Prompt https://arxiv.org/abs/2305.14325
Short " These are the solutions to the problem from other agents: [other answers|

Based off the opinion of other agents, can you give an updated response ..."

" These are the solutions to the problem from other agenis: [other answers|

Long

Using the opinion of other agents as additional advice, can you give an updated response . .."
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